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Paper: Ponciples of microeconemics (Genenic Elective)
Every economy must face three central problems.

1. What to produce?
What goods are o be produced, and In what quantity goods are 1o be produced. Broadly, goods
are clossified a8 —
(a) Capital goods, and
i) Consumer goods,
Production of both capital and consumer goods s cssenti@l for the economy, Capital goods
ilike plant and machinery) are needed for further production and future growth, Consumer
gonds are mneeded for preseni consumpison. 1f the mied resources are largely wsed for the
production of consumer goods. the present generation will enjoy good gualy of life. But, lack
of capital goods would mean lack of foiure growth. The fuure generations would suffer.
Likewise, if the himited resources are largely used for the production of capital goods, the futare
growth would be high Bus, the lack of consumer goods would mean that the present generation
will have low standard of lving. Hence, the problem called the “problem of choxe” or the
‘problem of allocation of limited resources” to different uses. Production of consumer goods is
essential to ratse standard of Inving of the present generations. Production of capital goods =
essential for future growih.

How Lo prodoce?

Labour-intensive technique imples greater use of labour than capiial, while capital-intensive
techmique imples greater use of capital (machines, eic) than labour. Capitnl-idensive
iechnique promotes efficiency. It scoelerates the pace of growth On the other hand, Inboar-
miemsive techniqoe promotes employment. The choxe between the labour-intensrve and
capital-intensive techniques becomes a problem because labour-intensive technique helps
reduce unemployment, whilke capatal- intensive technigque acceberates GDP growth. Here again,
the root cause of the problem is ‘scarcity of resources’. In countries like India capiial is so
scarce that Fuller utilisation of labour s not possible (Nowe- Employment of labour needs
capital). In rich countrses, labour is so scarce that fuller wiilization of capatnl becomes a

prohlem,



(C) For whom te produce?

(rwring w0 Emited resources. an economy cannot prodece goods for all sections of the socety
to the extent desired. Broadly, every economy has two sections of the society =

(i) The rich, and

(i1} Thee pamnr.

Produoction Possibility Corve (FPC) and Central Problems:
To illustrate and analyse the central problems, the economists use the technigee of PPC
i Production Possibality Curve), also called s formation curve or transformatson line,

What is Preduction Pessibility Curve (FPC)?

We know, resources are lmited and have allernative uses, Let us sssume that the gven
resources {along with given technology) are used in the producton of apples and wheai.

If all the resources are used for the production of apples, 100 lukh tosnes of apples can be
prosduced. And, if all the resources are used for the produection of wheat, 40 lakh tonmes of
whest can be produced. If we decide o prodece both apples and wheat, the vanous possible
combinations of the two goods are as shown in Table 1. The table showing differem
possibilitics of producton of apples and whent i called production pesability schedule.

Table 1. Production Possibility Schedule

Production Posslblites
— A B c [e] E
Appbes |lakh tonnes) 100 a0 70 a0 1]
Wheat (lakh tonnes) 0 10 10 30 a0

Thes tble is drawwn oo the folowing assumphans:

] respurces are given,

6] grwen resources are fully & efciently ublised, and
[&] sechroiapy remn conianL

Combination A shows that 100 lakh tonnes of apples can be produced wathout any production
of wheat. Likewise, combination E shows that 40 lakh tonnes of wheat can be produced wthot



any production of apples. Combination B shows that 90 lakh tonnes of apples and 10 lakh
toanes of wheat can be produced with the given resources and technology.

Likewise, combination C shows that 70 lakh tonpes of apples and 20 lakh tonnes of wheat can
be produced with the given resources and technology. Combination D shows that 400 bkh
tomnes of apples and 30 lakh wnses of wheat can be produced with the given resources and
techinnbegy. Representing these vanous production possibilities on a graph, we get prodwction
possibility curve as in Fg. 1.
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Quantity of wheat is shown on X-axis (horzontal axis) and quantity of apples is shown on Y-
ais (vertical axis). Points A, B, C, D and E show different possibilities of production, with the
given resources and technology. Joining all these points, we get AE curve. It is the production
possibility curve.

We can now define produoction possibility curve ss under:

Production possibility curve is a curve showing different possible combinations of two goods
which can be produced with the available resources.

The comstruction of PPC 15 based on these assumptions —

(1) Resources are given,

(i1} Given resources are fully & efficiently ntilised, and

(i) Technology (technique of production) remains constant.

Mote-

(i} Production possibility curve is a graphic representation of production possibility schedule.



(i) Production possibilty curve s also called Production Possibilty Fronter or
Transformation Curve.

In what fellows, we illustrate the central problems vsing the concept of PPC:

(1) PPC and What to Produce:

What o produce is essentially the problem of choice - what quantity of Good-X and Good-Y
is to be produced? More of Good-X mast kead w bkesser production of Good-Y. Because,
resournces are assumed to fully and efficiently unlieed, and technology 5 assomed o be
constant. Fig. 2 illustrates this situation. [t shows tha if production of Good-X i increased
from OR 08, the prodecton of Good-Y must reduce from OC to OF, Because, some
resources muost be shified from Y o X

Some Related Information:
While iHusirating the problem of what to produce, FPC olfers some wseful relaied

information. as under:
(i} PPC helps identify attamable and non-attamable combinations output. This &= illustrated
through Fig, 3.



